ASSEMBLY INSTRUCTIONS

WILDRIDGE

PURVEYORS OF QUALITY POLY FURNITURE HERITAGE
. DOUBLE ADIRONDACK LCC-129
330-893-4212 « www.wildridge.com

Required Tools: Hardware: Parts:

- Mallet/Non Marring Hammer -(10)1/4"x21/2" -(2) 2 1/2" Screws A= (1) Seat E = (2) Leg Supports
(Do not use Metal Headed Hammer) Bolts - (8) 1 1/4” Screws B = (1) Back E = (2) Left Arm Rest

- 7/16" socket or wrench -(2) 1/4"x 3" Bolts - (8) 2" Screws C=(2) Outside Legs G = (1) Right Arm Rest

- Cordless Drill - (12) 1/4" Flange Nuts D = (1) Middle Leg

- #2 Square Drive Bit

_—
(2) 1/2" Bolts & Flange Nuts

W i i e N
1 (2) 1/2” Bolts & Flange Nuts
/ T e

’

Step 1 Step 2
Position seat (A) and back (B) as shown and fasten with (4) 2 1/2" On the back side of the seat, fasten the lower back support to the
bolts and flange nuts, two on either side. middle seat support with (2) 2 1/2" Screws through the pre-drilled

holes as shown.
©2017




ASSEMBLY INSTRUCTIONS

WILDRIDGE,

PURVEYORS OF QUALITY POLY FURNITURE HERITAGE
DOUBLE ADIRONDACK LCC-129

330-893-4212 « www.wildridge.com

Step 3
Place outside legs (C) as shown and fasten with (4) 2 1/2" bolts and On the underside of the seat, fasten the middle leg (D) as shown
flange nuts, two on each side. on the right side of the middle seat support with (2) 2 1/2" bolts

and flange nuts.

Step 5
Between the middle leg and the outside leg, place one of the leg supports (E) into the groove and fasten with (4) 2" screws. NOTE: The screws

in the middle need to be screwed in from the underside as shown in the picture on the right. Repeat with the other leg support.

Step 6

Fasten the left arm rest (F) to side rail in the back with (1) 3" bolt

and flange nut. Now measure 1”from inside of leg as shown and Complete!

fastetr;] on gclthside with (4) 1 1/4” screws. Repeat with right arm rest Thank you for purchasing from Wildridge.
on other side.




